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1. The volume of the solid formed by revolving the region bounded by the graphs of
y=122+2,y=0,z=0and z =2 about the y-axis is

(a) 167 (correct)
(b) 87 Slm} ’\C‘VV to Exam (F\ﬁ #3

(©) 4r A

(d) 27 Q‘uf q463

2. The volume of the solid formed by revolving the region in the first quadrant bounded
by the graphs of y = 3z — z?, y = 0 about the line x = 4 is

45T
(a) '2_ (correct)
(b) 3_2£ S‘l m .l( Ay +(‘; %M‘yp/”e
(c) 217 Q8 273 &DN}/C 40
(d) 24
(e) 227
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3. The arc length of the graph of x = g(y2 +2)2; 0 <y < 2is equal to
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4. The area of the surface generated by revolving the graph of y = v25 — < <4

about the y-axis is equal to:

(a) 207

(correct)

(b) 307
(c) 107
(d) 16
(e) 247

Q A 30 ?(uJ“
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(a) l—ln( ) (correct)
((b; In(3) gl"ﬁl(ﬂ/v o E)uvn\, O\l ’( (C)
(d) 1+ 1In(3) \3 we)}; 51 6

(e) In(3) — 1 /

L]

6. / rsec’rdr =
0

V3
(correct)

(a) ?ﬂ—ln2

(b) \—g—?—’ﬂ+ln2 Q 13 @Q\%Xﬂ Cas

(c) —g+ln3

™

(d) 5 —In3

(e) \—g—gw—lnB
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Ts /tan?‘(St) sec®(3t) dt =

sec®(3t)  sec’(3t)

(a) 15 5 +C
) sec39(3t) S sec§3t) +C
(© tar;(53t) K tan:(St) Te
by tan;(st) ¥ tan§3t) o
(© sec:é3t) ; se026(3t) L C

o / sin(3z) cos(4z) dx =
0
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(correct)

Similav bo (T
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(correct)

(a) =6

(b) 6 Simarv +o Qi 64
() 4

(d) —4 Fagc 230

(e) 0
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(correct)
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11. /Md)t:

B +222+
(a) —In|z| +2In|z +1| - i +O lesct)
41 < \ \ E \
oy lon be Eocame
(b)ln|:c|—21n|x+1|_.xi_1+c ima (@ )quq)
D> LA
(©) =2Infa] +Infe +1] - — = +C A 0y
1
d) 21 - L
(d) 2In|z| —In |z + 1| x+1+C
1
(e) — ln|x|—21n|z+1|—?+c
12. /5d—z=
= cosz—1
3
(a) 1-— V3 (correct)
(b) V3+1 Simi) oy o (\\3\’ > &X
(c) V3-1
(d) 1-+2 @cua/ﬁ 51
(e) V2+1

S




233, Math 102, Major Exam 11 Page 7 of 7 MASTER

o0
13. The improper integral / re 2 dx
0

1
(a) converges to 1 (correct)

(b converges to% g'\m'\\ vy {"o C\ xF (2;2

)
(c) converges to 0 O O‘%’L oK o C\
(d) converges to 2
)

(e) diverges

1
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14. The improper integral /
2

(a diverges (correct)

(b) converges to z @{ﬁ?{ﬂ/&w/’( /—]//[_x

)
)
(c) converges to -
)
)

2 : O i o o
(d) converges to 3 Q\-W 5 & P(KCD{ 2560

(e) converges to 1
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